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Section-A
(Objective Type Questions) 1 each
1. Domain of the lunclion Ax) = =l x|l is :
(A) (0, )
B8) (--.0)
C) (==, 7)

(D) None of these

2.  ycoordinate in zx-plane is zero. (Trua False)
3. Realpant of =i = ..ccercinmnsinniens :
1
4. I P(not A) = 3" find P(A).
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Section-8
(Very Short Answer Type Questicns) 2 cach
5 MU={1,223,4,56,7.8.9, A- (1.2 3 3.8={24 6 8. verty
(AnB)y =AvB.
G Find the value of cosec (-1410°)
7 Find the solution of lincar incquaton x - 1« 2{x = J)

8 Evatuate :

£:n(< - a)
al-'!1 (= - a)

9  Find the derivatve ¢! 25(3 - 6x%) w.rt. x
10. Using binomial theorem cvaluate (101)°

1. Find tie equation ol straight Ine Fassing threush the pein's (-1, 1) ang

(2. =4).

12 Il the sum of a cenain number ol terms ¢! an AP. 25, 22, 19, ... ... s

116 Fing the number of lerms
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13.

14,

1S5

16.

17.

( 3)

Section-C

(Short Answer Type Questions) 4 each

In a group of 400 people, 250 can speak Hindi and 200 can speak

English. How many people can speak both Hindi and Englsh ?

Prove the following by using the principle of Mathematcal induction for all

nec N:

2n - 1)(2n .« 1
Pe32e8%4 (2n-1 - o1 _:;‘ n- )

Find the general solution of the trigonometnc equalion

s'tlx+sin3.r+sirl5x=0

Find the coordinates of the foot of perpendicutar from the pent (-1, 3) to
the line 3x — 4y - 16 = 0.
Convert the complex number Z= I;_%—-gi in polar form.
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( 4)
18. Find the equation ol parabola having vertex (0, 0), passing through (2. 3)

and axis Is along x-axis.

19, Find the ratio in which the yz-plane divides the line segment formed by

joining the poimts (-2, 4, 7) and (3, =5, B).
20. (a) Write the negation of the following statements :
() Chennal Is the capital of Tamil Nadu.
(i) The number 2 is greater than 7.
{b) Wirite each of tha lollowing statements in tha form ‘il-then’:
(i) You getl a job implies that your crederilals e good.

(1) A quadrilateral is a parallelogram il s d.agonals bisect cach

other.
21. A card is selected lrom a pack of 52 cards :
(a) Find the probability that the card is an ace of spade.
(®) Find the probability that the card is an ace.
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( 5 )

Or

I E and F are evenls 1 1
such that P(E) 3’ P(F) = 5 and P(E and F) = ]

find :
() P(E or F)
(i) P{not E and not F)
22. In the expansion of (1 + a)™*", prove that coelficients of a” and a” are

equal.
Or

Find the 13th term in the expansion of :

23. Let A ={(1. 2 3. 4,6} and R be the relation on A defined as R = [(a. D)

a. b e A, bis exaclly divisible by a):
() Write R in roasler form

(i) Find the domain of R

() Find the range ol R
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24,

( 6 )

Or

Let f be a subsel of z x 2z dolnod by /: ((ab, a + b) : & b € 2] where

z is a set ol integer. Is / a lunclion from 2 lo 2 7 Justily your answer.
Section-D

(Long Answer Type Questions) 6 each

if colx = g. x bes in 3rd quadrant find the values of other five trigonomeltnc

functions.

Prove lhal :

x 9x Jan St
21:051—51:05‘3 +cos'3-cos 13" 0

Find r, f 5P, = 6.°P,_,.
Or

In how many ways can one selecl a crickel team of eleven hrom 17

Players in which only 5 players can bowl il each crickel team of 11 musl

include exaclly 4 bowlors 7
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(7))

% FindsunotnlnrmnolIwoA.P‘aamhlhemlio&n+4:9n+6.Fnd

the ralio of their 18th terms,
Or
ina b, ¢ dare in G.P., show that :

(32 + 2 + Q)P+ 2+ F) = (ab + bc + co)?
Z1. Find the derivative of the function f(ﬂ]-:—:: from st princple.

Or

28 Find the equation ol ellipse with length of minor axis 16 and foci (O, =6).
Or

Find the coordinales of the foci, verices, the eccenircily and the length of

the latus rectum of the hyperbola 5y% = 9x° = 36.
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29. Find the mean and variance lor the following Irequency distribution :

Classes Frequencies
0—10 5
10—20 8
20—30 15
30—10 16
4050 6
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